Structure of DNA 

February 20th, 2013

· The nucleotide, a basic part of DNA is made up of three parts which are _______________ (phosphate group), ____________________, and a _____________ containing nitrogen. 
· A strand of DNA is formed when nucleotides join by forming a __________ between the ________ and ________________ group. 
· There are four bases that occur in DNA which are: _____________, ____________, ___________ and ____________________. 
· Each are paired with the same base in DNA: 
______________ always with _______________ 

 and then ________________ always with ____________________.  
· This way each strand of DNA is __________________ to the other.  
· The two strands in DNA are joined by a __________ that is formed between the ___________. Again,  A always with T, and C always with G. 
· The angle at which the two strands are bond together causes the double strands to __________ forming a _________________. 
· Activity: Making Origami DNA: http://www.yourgenome.org/teachers/origami.shtml 
